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Right triangle problem solving U6D3 Applications Z e—g
SHOW ALL WORK TO SUPPORT YOUR ANSWERS!!!!!!! ODL‘
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1) In AABC, where £C is a right angle, cos A= — W’hat is sin B?

(3 % Sln.A = cos 2
Jg |
3

3
(4) Jgg cmptcmfwy % 5.5‘
co ~fumchons
2) In AABC, the complement of £B is ZA. Which statement is always a ff‘
true? ’ 5 Cg’ (’*
{1) tan LA = tan ZB (3) cos LA = tan LB

(2) sin LA = sin 4B (@) sin LA = cos LB D

3) If cos(2x — 1)° = sin(3x + 6)°, then find the value of x.
2x—-| +3x 4+ =90
5 x +§ =40 LX:"I
5x =&5

4) Find the value of R that will make the equatlon sin 73° cos R true when 0° < R <90°. Explain your answer.

) Sine 6‘ cosine are cofunchons

2) sin A = cos B FatAtm 3 =G0°
. 33 - S 7@ v s
3) s‘m”}’t co ;L IR =17

q0°
5) A man who is 5 feet 9 inches tall casts a shadow of 8 feet 6 inches. Assuming that the man is

standing perpendicular to the ground, what is the angle of elevation from the end of the shadow
to the top of the man’s head, to the nearest tenth of a degree?

Convert fo pnche s
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6) When instructed to find the length of HM] in right triangle HJG, Alex wrote the equation i:SO H CAH TOA }

- H H
sin 28° = Hy while Marlene wrote cos 62° = -l- Are both students’ equations correct?
20 20 q

suewy.  BOth Students are correct .

SN 28 = H v
2% 20
+0 2
» HIT v
2 =
g90° Cos & 20
K;\ sme{f cosSine are cofuctions,

T~ so They will be egual when
T fiere argus are complements,

7) Find the value of x. Round to the nearest tenth.

tan 39% 2 H . i

38 .

(j z 30.’77 ‘7q 32(’. ‘s 3g9° “‘7 0°
_ . d * 38 A
Sin 60° =307 (51n60) k= 30,27..

* @) (sineo') o 355327..

The diagram below shows two similar triangles. T ?« “~ 3 S' gj
e i pRi
- 2 L2
24 _—' - 3

ftan § = %, what is the value of x, to the nearest tenth? y 2. “

(1) 12 (3) 76 3)( =16, ¥

W s X:S.O

9 In the diagram of ARST below, m£T = 90°, RS = 65, and ST = 60

What is the measure of 28, to the nearest degree?
Moo i i, .

) 47°

(2) 43° (4) 67°
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10) —
The diagram shows rectangle ABCD, with diagonal BD.

A i <in 30" = %___
12 H X !
~ 0 X = G
30° "
’ (é‘ c Now, we nesdh /ﬁﬂ?"ﬁq
o e (¢)

What is the perimeter of rectangle ABCD, to the nearest tenth? 2 2 -
‘ : 4 e
(1) 28.4 (3) 48.0 use MCj or a -

(4) 62.4 2 -6 2 _ ‘2—»

’P; é +6 -+ /0 39...+ 10, 39 y 9’“5, |OS

[px 32.%] g VToE X 10,34

11) Claire is holding her kite string 3 feet above the ground, as shown in the accompanying
diagram. The distance between his hand and a point directly under the kite is 95 feet. If the
angle of elevation to the kite is 50°, find the height, h, of his kite. to the nearest foot.

h & 13,2165 93,
+ 3

e, 216. ..
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12) | As shown in the diagram below, a ship is heading directly toward a lighthouse whose beacon is
125 feet above sea level. At the first sighting, point A, the angle of elevation from the ship to the
light was 7°. A short time later, at point D, the angle of elevation was 16°.

5 ft

FHo—®

=, 7° 16°
A D C
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To the nearest foot, determine and state how far the ship traveled from point A to point D.

o .25
= 1% tanle’- 4£- |10/8.04353
-x <

A (tun 6) X =125 — 4359268,
Aunie)  fanic) 582, 16v. ..

/‘I‘//J‘Z:O | x & Yz S 4265055, .
A Yy c

tan1%= 125 |5 82 feet |

4
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13) A lighthouse is built on the edge of a cliff near the ocean, as shown in the accompanying diagram.
From a boat located 200 feet from the base of the cliff, the angle of elevation to the top of the cliff is 18°

and the i e top of the lighthouse is 28°. What is the height of the lighthouse, x,
to th€ nearest tenth of a foot:

X + cliff
2§
200
X-H; ¥
—tan 28° EAash
fun2x)(20) = x +clFF e
23 06, 3 Yl -
*’ o ' %1, 3574,
Ad@ T .
oo | 41, ¢ Feet]
“+an l?ﬂ___s.:;‘!ﬁ A X 6495363425 -
200

@an 18 Y 2ew) = elf¥



) Freda, who is training to use a radar system, detects an airplane flying at a constant speed and
heading in a straight line to pass directly over her location. She sees the airplane at an angle of
elevation of 15° and notes that it is maintaining a constant altitude of 6250 feet. One minute later,
she sees the airplane at an angle of elevation of 52°. How far has the airplane traveled, to the

nearest foot?

(A So
Ft

Hun 5% 655‘3

@ms’)(x =250
o f?ﬁiﬂ&@) f@&ﬂ%x

4an 52"+ 6250 fzm,» . 2SO
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Determine and state the speed of the airplane, to the nearest mile per' hour.

D::«

2T

1§ dvefee Z 34428
5, 280 feetfan

(/C&U) 5’3.4"?2‘8”?}& @/
R =206,56F. . .
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